
 

 

 

DUCATI 999 
2003–2006 

Part Nr. 535 
 

868 

813RE 
813LB 

869 

8300 

M6 x 25 DIN7380 

+ 816R + M6 DIN985 
 

 

M8 x 30 DIN6921 
+ 807 

M8 x 50 DIN6921 

+ 807 

M8 x 20 
DIN7991 

M8 x 35  
DIN7991 

 + 123221208 

818225 

M6 x 8   
DIN7991 

M6 x 8 

DIN7991 

M8 x 20 
DIN7991 

M8 x 35  

DIN7991 
 + 123220908 

M6 x 30 DIN7380 

+ 123120506 

+ 816L + M6 DIN985 
 

 

810R 


